Assignment to 2.4.3

Given are the following data:

AdmCost := 300000

CapAss := 30000

IC_FP:= 10000
IC_UP := -6000
CapCost := 100000

LabCost := 600000

MatCost := 200000

Sales := 1000000

SalesCost := 100000

TCOP := 900000

Administration cost

Capitalized Assets

Change in inventory of finished goods
Change in inventory of unfinished goods
Cost of capital

Cost of labour

Cost of material

Sales [currency units]

Sales costs

Total cost of production

There are no other items which influence profit.

Establish from these data a profit & loss statement

PN~

according to the total cost results accounting with as many items as possible
according to the total cost results accounting with as few items as possible
according to the cost-of-sales results accounting with as many items as possible
according to the cost-of-sales results accounting with as few items as possible
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